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-85 8 1,970,000& * 1H * 12& 23,640
272 = 2,499,947& » 14 * 128 30,000
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CHIIRSFIIH==E 3,860
23 108,8443 * 1H » 18Y 1,960
-3=2 105,546& * 1H » 18 1,900
Oons=¢ 1,520,000& = 12& 18,240
EEE 52,300
23t (F=2FaEddME2) 52,300
201 L2l 43,820
01 Al 22! H| 43,560




SN BRYLEGHA D
M HH2IAZH (= ALAHAGEMER)
chelr D123l (&)
SN FHE - B(SA) - MEAY - BHES il 2
2EAEgY JI=2Zdl 200,000& » 12& 2,400
OANREE FA(SAMX S) 240,000& = 128 2,880
OMgza 29 423 7¢ 120,000& * 12& 1,440
OHFARINI 428 7¢ 11,616
SENPI 240,000& = 3CH * 448 « 23| 5,760
cHEHIN(EW, ZABS)
240,000 = 3CH = 44 « 1.53] 4,320
oIElHI| (&%) 240,000& = 304 » 23l 1,440
oA 96,000& = 104 = 13l 96
OMZEXUB 20,0004 = 3% = 12& 720
O&=J 2z 51,000& = 8CH » 12& 4,896
O= &l 8,000& * 23 * 6 * 123 13,248
Og Al 60,0003 = 2H » 53¢ 6,360
02 3323l 260 340 A 80
OXtS XA 65,000 * 23] = 2CH 260
202 oddl 1,840 2,300 A 460
01 = LH o4 1l 1,840 2,300 A 460
OHl&Z28 2ol 1,840
203 YR F&H] 6,640 6,640 0
02 ER &= 2,440 2,440 0
OF I E R =& 40,0003 = 61H 2,440
04 EAN2IER2FEHI 4,200 4,200 0
ORAN2EIRFAHI 350,000& = 12& 4,200




